Bid Opening Oct. 7, 2010 Engineer's Estimate \$900,000.00

CONTRACTOR/CITY					Z & MUNOZ WARD	ELITE LANDSCAPING CLOVIS		
ITEM#	ITEM # DESCRIPTION Q		UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST	
1	Mobilization/Demobilization	1	LS	\$58,000.00	\$58,000.00	\$32,125.00	\$32,125.00	
2	Water Pollution Control (SWPPP)	1	LS	\$2,500.00	\$2,500.00	\$7,210.00	\$7,210.00	
3	Demolition (Poplar, gazebo, Verizon Property)	1	LS	\$25,000.00	\$25,000.00	\$19,000.00	\$19,000.00	
4	Site compacting and grading	46,000	SF	\$0.30	\$13,800.00	\$0.22	\$10,120.00	
5	Planting soil fill (Poplar St. berms) exclude transport.	720	CY	\$20.00	\$14,400.00	\$23.00	\$16,560.00	
6	Transportation of soil fill material	1	LS	\$3,000.00	\$3,000.00	\$10,800.00	\$10,800.00	
	Vehicular paths - 6" reinforced conncrete	4,750	SF	\$8.00	\$38,000.00	\$7.00	\$33,250.00	
8	Pedestrian paths - 4" concrete	5,800	SF	\$6.00	\$34,800.00	\$5.50	\$31,900.00	
	Storm Drain Modifications	1	LS	\$15,000.00	\$15,000.00	\$4,500.00		
	Construction staking	1	LS	\$4,000.00	\$4,000.00			
	4" x 8" Brick banding along new concrete paths	1,150	SF	\$22.00	\$25,300.00		\$8,050.00	
12	Irrigation mainline (trenching, bedding, compacting)	756	LF	\$3.50	\$2,646.00		\$5,292.00	
	Remote control valves	16	EA	\$350.00	\$5,600.00			
	Quick coupler valves	9	EA	\$250.00	\$2,250.00		\$1,395.00	
	Pop up shrub and lawn sprinklers	120	EA	\$85.00	\$10,200.00	·	\$6,000.00	
	Bubblers	36	EA	\$30.00	\$1,080.00		\$792.00	
	Medium impact rotors	43	EA	\$50.00	\$2,150.00		·	
	Gate valves	8	EA	\$300.00	\$2,400.00		\$2,400.00	
	Irrigation controller (wall mount)	1	EA	\$1,800.00	\$1,800.00		\$17,166.00	
	Soil preparation (amendment, fine grading)	30,250	SF	\$0.40	\$12,100.00		\$16,637.50	
	Mulch (planter areas)	2,680	SF	\$0.80	\$2,144.00		\$1,072.00	
	Turf - sod	32,930	SF	\$0.40	\$13,172.00		\$13,172.00	
	1 Gallon shrub	240	EA	\$8.00	\$1,920.00		\$2,100.00	
	15 Gallon tree	35	EA	\$85.00	\$2,975.00		\$4,025.00	
	Root barrier	700	LF	\$5.00	\$3,500.00		\$4,900.00	
	60 Day maint. (following acceptance by City)	1	LS	\$4,500.00	\$4,500.00		\$3,200.00	
	Light Standards	9	EA	\$6,700.00	\$60,300.00		\$66,150.00	
	Relocate light standard (incl. trench, fill, conduit)	1	LS	\$2,500.00	\$2,500.00		\$3,000.00	
	Gazebo lights	12	EA	\$1,000.00	\$12,000.00			
	GFCI receptacles (at gazebo)	6	EA	\$200.00	\$1,200.00		\$2,100.00	
	Lighting conduit install (incl trench, fill, compaction)	935	LF	\$20.00	\$18,700.00		·	
	Lighting pull boxes	7	EA	\$125.00	· ·			
	1" Conduit (PVC)	515	LF	\$3.00	\$1,545.00	\$3.50	\$1,802.50	
	0.5" Conduit (RCS)	100	LF	\$6.00	\$600.00		\$700.00	
	1.25" Conduit (PVC)	420	LF	\$3.00	\$1,260.00		\$1,470.00	
	1' LB Conduit fitting	1	EA	\$25.00	\$25.00			
	#8 AWG Conductor	2,150	LF	\$1.00	\$2,150.00	·	\$2,687.50	
	#10 AWG Conductor	3,200	LF	\$0.90	\$2,880.00		\$3,200.00	
	#12 AWG Conductor (ground)	850	LF	\$0.70	\$595.00		\$680.00	
	Lighting controls	1	LS	\$5,000.00	\$5,000.00			
41	Overcurrent protection (in existing panel board)	7	EA	\$100.00	\$700.00			
42	Gazebo (including installation)	1	LS	\$56,000.00	\$56,000.00			
43	Concrete curb & mowband (w/bronze lettering)	1	LS	\$2,300.00	\$2,300.00		·	
44	Gazebo ampitheater concrete seat walls	140	LF	\$240.00	\$33,600.00			
45	Trash receptacles	4	EA	\$1,000.00	\$4,000.00			
	Conc. Bench pads (exclude train seat walls)	8	EA	\$200.00	\$1,600.00			
	ADA picnic tables (incl. conc. pad)	3	EA	\$1,600.00	\$4,800.00			
	Std. picnic tables (incl. concrete pad)	4	EA	\$1,700.00	\$6,800.00		·	
		TAL BAS		, , 22.30	\$521,667.00		\$543,676.50	

Bid Opening Oct. 7, 2010 Engineer's Estimate \$900,000.00

CONTRACTOR/CITY				HAY	Z & MUNOZ WARD	ELITE LANDSCAPING CLOVIS			
ITEM #	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST		
	ALTERNATE BID #1 - BASEBALL SEAT WALLS								
1	Baseball plaza seat walls	37	LF	\$260.00	\$9,620.00	\$990.00	\$36,630.00		
2	Commemorative Tiles (incl. inlay in b ball seat walls)	38	EA	\$1,100.00	\$41,800.00	\$1,400.00	\$53,200.00		
	TOTAL BASE + ALTERN	BID #1		\$573,087.00		\$633,506.50			
	ALTERNATE BID #2 PRECAST TRAIN SEAT WALLS								
1	Train seat walls (provide & install on conc. Pad)	8	EA	\$2,900.00	\$23,200.00	\$5,100.00	\$40,800.00		
	TOTAL BASE + ALTERNATI\	/E BID #	[‡] 1 & #2		\$596,287.00		\$674,306.50		
	ALTERNATE BID # 3 - HISTORY WALK			- -					
1	Demolition, grading & compaction	3,700	SF	\$1.50	\$5,550.00	\$0.60	\$2,220.00		
2	Vehicular paths - 6" reinf. conc. (incl bench pads)	2,050	SF	\$8.00	\$16,400.00	\$7.00	\$14,350.00		
3	Provide & install city standard benches	4	EA	\$1,300.00	\$5,200.00	\$1,600.00	\$6,400.00		
4	15 gallon tree	14	EA	\$82.00	\$1,148.00	\$110.00	\$1,540.00		
5	1 gallon shrub	800	EA	\$8.00	\$6,400.00	\$9.00	\$7,200.00		
6	Mural uplights	37	EA	\$1,810.00	\$66,970.00	\$2,200.00	\$81,400.00		
7	Light standards (incl. trench, cond, p box, connect.)	3	EA	\$7,000.00	\$21,000.00	\$7.75	\$23.25		
	TOTAL BASE BID +ALTERNATI		\$718,955.00		\$787,439.75				
	ALTERNATE BID #4 - TURF WITH IRRIGATION		_						
1	Demolition (Poplar St, grading, compaction)	5,620	SF	\$1.50	\$8,430.00	\$0.60	\$3,372.00		
2	Imported planting soil	208	CY	\$20.00	\$4,160.00	\$40.00	\$8,320.00		
3	Turf - sod	5,620	SF	\$0.40	\$2,248.00	\$0.45	\$2,529.00		
4	Irrigation main line (incl. trench & backfill)	209	LF	\$3.50	\$731.50	\$10.00	\$2,090.00		
5	Remote control valve	6	EA	\$500.00	\$3,000.00	\$335.00	\$2,010.00		
6	Quick coupler valve	2	EA	\$250.00	\$500.00	\$155.00	\$310.00		
7	Pop-up shrubs & lawn sprays	45	EA	\$180.00	\$8,100.00	\$50.00	\$2,250.00		
TOTAL BASE BID + ALTERNATIVE BID #1 - #4 \$746,124.50 \$808,320.75									
	ALTERNATE BID #5 - PLAY AREA								
1	Bocce Ball area improvements	1	LS	\$34,000.00	\$34,000.00		\$24,975.00		
2	Playground area improvements	1	LS	\$114,000.00	\$114,000.00	\$111,775.00	\$111,775.00		
TOTAL BASE + ALTERNATIVE BID #1 - #5 \$894,124.50 \$945,070.3									
l				-		<u> </u>			

\$894,124.50

\$945,070.75

PROJECT TOTAL BID (Base Bid + Items #1 thru #5

Bid Opening Oct. 7, 2010 Engineer's Estimate \$900,000.00

CONTRACTOR/CITY					D LANDSCAPE ACY	MCI ENGINEERING STOCKTON		
ITEM#	M # DESCRIPTION QTY		UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST	
1	Mobilization/Demobilization	1	LS	\$25,932.77	\$25,932.77	\$35,000.00	\$35,000.00	
2	Water Pollution Control (SWPPP)	1	LS	\$9,733.00	\$9,733.00	\$6,500.00	\$6,500.00	
3	Demolition (Poplar, gazebo, Verizon Property)	1	LS	\$18,360.00	\$18,360.00	\$15,000.00	\$15,000.00	
4	Site compacting and grading	46,000	SF	\$0.78	\$35,880.00	\$0.30	\$13,800.00	
5	Planting soil fill (Poplar St. berms) exclude transport.	720	CY	\$11.00	\$7,920.00	\$16.00	\$11,520.00	
6	Transportation of soil fill material	1	LS	\$4,617.00	\$4,617.00	\$15,000.00	\$15,000.00	
7	Vehicular paths - 6" reinforced conncrete	4,750	SF	\$6.40	\$30,400.00	\$9.00	\$42,750.00	
8	Pedestrian paths - 4" concrete	5,800	SF	\$4.30	\$24,940.00	\$8.00	\$46,400.00	
9	Storm Drain Modifications	1	LS	\$14,310.00	\$14,310.00	\$8,000.00	\$8,000.00	
10	Construction staking	1	LS	\$4,860.00	\$4,860.00	\$5,000.00	\$5,000.00	
11	4" x 8" Brick banding along new concrete paths	1,150	SF	\$24.85	\$28,577.50	\$16.00	\$18,400.00	
12	Irrigation mainline (trenching, bedding, compacting)	756	LF	\$15.45	\$11,680.20	\$5.00	\$3,780.00	
13	Remote control valves	16	EA	\$310.00	\$4,960.00	\$400.00	\$6,400.00	
14	Quick coupler valves	9	EA	\$195.00	\$1,755.00	\$200.00	\$1,800.00	
15	Pop up shrub and lawn sprinklers	120	EA	\$21.75	\$2,610.00	\$60.00	\$7,200.00	
	Bubblers	36	EA	\$25.75	\$927.00	\$50.00	\$1,800.00	
17	Medium impact rotors	43	EA	\$40.30	\$1,732.90	\$125.00	\$5,375.00	
	Gate valves	8	EA	\$265.00	\$2,120.00		\$2,240.00	
19	Irrigation controller (wall mount)	1	EA	\$15,062.00	\$15,062.00	\$20,000.00	\$20,000.00	
	Soil preparation (amendment, fine grading)	30,250	SF	\$0.31	\$9,377.50		\$12,100.00	
	Mulch (planter areas)	2,680	SF	\$0.55	\$1,474.00		\$1,608.00	
	Turf - sod	32,930	SF	\$0.36	\$11,854.80		\$16,465.00	
	1 Gallon shrub	240	EA	\$10.00	\$2,400.00		\$1,920.00	
24	15 Gallon tree	35	EA	\$122.00	\$4,270.00		\$4,200.00	
	Root barrier	700	LF	\$5.00	\$3,500.00		\$2,800.00	
26	60 Day maint. (following acceptance by City)	1	LS	\$3,340.00	\$3,340.00		\$2,800.00	
	Light Standards	9	EA	\$7,062.00	\$63,558.00	\$7,500.00	\$67,500.00	
28	Relocate light standard (incl. trench, fill, conduit)	1	LS	\$1,080.00	\$1,080.00	\$3,000.00	\$3,000.00	
	Gazebo lights	12	EA	\$660.00	\$7,920.00	\$2,400.00	\$28,800.00	
30	GFCI receptacles (at gazebo)	6	EA	\$76.00	\$456.00	\$400.00	\$2,400.00	
31	Lighting conduit install (incl trench, fill, compaction)	935	LF	\$9.75	\$9,116.25	\$18.00	\$16,830.00	
32	Lighting pull boxes	7	EA	\$71.00	\$497.00	\$480.00	\$3,360.00	
	1" Conduit (PVC)	515	LF	\$2.70	\$1,390.50	\$3.00	\$1,545.00	
	0.5" Conduit (RCS)	100	LF	\$2.70			\$900.00	
	1.25" Conduit (PVC)	420	LF	\$3.25	\$1,365.00	\$3.00	\$1,260.00	
36	1' LB Conduit fitting	1	EA	\$23.75	\$23.75	\$100.00	\$100.00	
37	#8 AWG Conductor	2,150	LF	\$1.15	\$2,472.50	\$5.00	\$10,750.00	
38	#10 AWG Conductor	3,200	LF	\$0.90			\$960.00	
39	#12 AWG Conductor (ground)	850	LF	\$0.80	\$680.00	\$0.30	\$255.00	
	Lighting controls	1	LS	\$2,333.00	\$2,333.00	\$6,500.00	\$6,500.00	
41	Overcurrent protection (in existing panel board)	7	EA	\$103.00				
42	Gazebo (including installation)	1	LS	\$56,400.00	\$56,400.00	\$65,000.00	\$65,000.00	
43	Concrete curb & mowband (w/bronze lettering)	1	LS	\$6,015.00			\$8,000.00	
44	Gazebo ampitheater concrete seat walls	140	LF	\$375.00			,	
45	Trash receptacles	4	EA	\$1,200.00	\$4,800.00		·	
	Conc. Bench pads (exclude train seat walls)	8	EA	\$300.00	\$2,400.00			
	ADA picnic tables (incl. conc. pad)	3	EA	\$1,765.00				
	Std. picnic tables (incl. concrete pad)	4	EA	\$2,026.00	\$8,104.00		·	
		TAL BAS		,	\$512,870.67		\$623,268.00	

Bid Opening Oct. 7, 2010 Engineer's Estimate \$900,000.00

CONTRACTOR/CITY					LANDSCAPE ACY	MCI ENGINEERING STOCKTON	
ITEM # DESCRIPTION QT			UNIT	ITEM COST	TOTAL COST	ITEM COST	TOTAL COST
	ALTERNATE BID #1 - BASEBALL SEAT WALLS						
1	Baseball plaza seat walls	37	LF	\$943.00	\$34,891.00	\$650.00	\$24,050.00
2	Commemorative Tiles (incl. inlay in b ball seat walls)	38	EA	\$1,207.00	\$45,866.00	\$1,000.00	\$38,000.00
TOTAL BASE + ALTERNATIVE BID #1					\$593,627.67		\$685,318.00
	ALTERNATE BID #2 PRECAST TRAIN SEAT WALLS	<u> </u>					
1	Train seat walls (provide & install on conc. Pad)	8	EA	\$4,240.00	\$33,920.00	\$3,300.00	\$26,400.00
	TOTAL BASE + ALTERNATIV	'E BID #	1 & #2		\$627,547.67		\$711,718.00
	ALTERNATE BID # 3 - HISTORY WALK			·		•	
1	Demolition, grading & compaction	3,700	SF	\$4.50	\$16,650.00	\$2.50	\$9,250.00
2	Vehicular paths - 6" reinf. conc. (incl bench pads)	2,050	SF	\$13.10	\$26,855.00	\$10.00	\$20,500.00
3	Provide & install city standard benches	4	EA	\$1,825.00	\$7,300.00	\$1,500.00	\$6,000.00
4	15 gallon tree	14	EA	\$145.00	\$2,030.00	\$115.00	\$1,610.00
5	1 gallon shrub	800	EA	\$5.50	\$4,400.00	\$9.00	\$7,200.00
6	Mural uplights	37	EA	\$1,553.20	\$57,468.40	\$2,300.00	\$85,100.00
7	Light standards (incl. trench, cond, p box, connect.)	3	EA	\$4,840.00	\$14,520.00	\$10,000.00	\$30,000.00
	TOTAL BASE BID +ALTERNATI		\$756,771.07		\$871,378.00		
	ALTERNATE BID #4 - TURF WITH IRRIGATION						
1	Demolition (Poplar St, grading, compaction)	5,620	SF	\$2.65	\$14,893.00	\$3.50	\$19,670.00
2	Imported planting soil	208	CY	\$34.45	\$7,165.60	\$53.00	\$11,024.00
3	Turf - sod	5,620	SF	\$0.85	\$4,777.00	\$0.60	\$3,372.00
4	Irrigation main line (incl. trench & backfill)	209	LF	\$12.00	\$2,508.00	\$6.00	\$1,254.00
5	Remote control valve	6	EA	\$321.00	\$1,926.00	\$400.00	\$2,400.00
6	Quick coupler valve	2	EA	\$200.00	\$400.00	\$280.00	\$560.00
7	Pop-up shrubs & lawn sprays	45	EA	\$22.55	\$1,014.75	\$65.00	\$2,925.00
	TOTAL BASE BID + ALTERNATIV	E BID #	1 - #4		\$789,455.42		\$912,583.00
	ALTERNATE BID #5 - PLAY AREA						
1	Bocce Ball area improvements	1	LS	\$65,052.46	\$65,052.46	\$75,000.00	\$75,000.00
2	Playground area improvements	1	LS	\$118,613.98	\$118,613.98	\$100,000.00	\$100,000.00
	TOTAL BASE + ALTERNATI	VE BID :	#1 - #5		\$973,121.86		\$1,087,583.00

PROJECT TOTAL BID (Base Bid + Items #1 thru #5

\$973,121.86

\$1,087,583.00

Bid Opening Oct. 7, 2010 Engineer's Estimate \$900,000.00

	CONTRACTOR/CITY	BLOSSOM VALLEY SAN JOSE			
ITEM #	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST
1	Mobilization/Demobilization	1	LS	\$8,425.00	\$8,425.00
2	Water Pollution Control (SWPPP)	1	LS	\$3,900.00	\$3,900.00
3	Demolition (Poplar, gazebo, Verizon Property)	1	LS	\$22,725.00	\$22,725.00
4	Site compacting and grading	46,000	SF	\$3.65	\$167,900.00
5	Planting soil fill (Poplar St. berms) exclude transport.	720	CY	\$82.00	\$59,040.00
6	Transportation of soil fill material	1	LS	\$12,140.00	\$12,140.00
7	Vehicular paths - 6" reinforced conncrete	4,750	SF	\$10.40	\$49,400.00
8	Pedestrian paths - 4" concrete	5,800	SF	\$7.00	\$40,600.00
9	Storm Drain Modifications	1	LS	\$20,350.00	\$20,350.00
10	Construction staking	1	LS	\$4,150.00	\$4,150.00
11	4" x 8" Brick banding along new concrete paths	1,150	SF	\$22.70	\$26,105.00
12	Irrigation mainline (trenching, bedding, compacting)	756	LF	\$26.00	\$19,656.00
13	Remote control valves	16	EA	\$250.00	\$4,000.00
14	Quick coupler valves	9	EA	\$1.20	\$10.80
15	Pop up shrub and lawn sprinklers	120	EA	\$40.00	\$4,800.00
16	Bubblers	36	EA	\$25.00	\$900.00
17	Medium impact rotors	43	EA	\$75.00	\$3,225.00
18	Gate valves	8	EA	\$150.00	\$1,200.00
19	Irrigation controller (wall mount)	1	EA	\$15,000.00	\$15,000.00
20	Soil preparation (amendment, fine grading)	30,250	SF	\$0.10	\$3,025.00
21	Mulch (planter areas)	2,680	SF	\$0.25	\$670.00
22	Turf - sod	32,930	SF	\$0.70	
23	1 Gallon shrub	240	EA	\$10.00	\$2,400.00
24	15 Gallon tree	35	EA	\$100.00	\$3,500.00
25	Root barrier	700	LF	\$3.00	\$2,100.00
26	60 Day maint. (following acceptance by City)	1	LS	\$3,715.00	\$3,715.00
27	Light Standards	9	EA	\$8,840.00	\$79,560.00
28	Relocate light standard (incl. trench, fill, conduit)	1	LS	\$3,870.00	\$3,870.00
29	Gazebo lights	12	EA	\$1,315.00	\$15,780.00
30	GFCI receptacles (at gazebo)	6	EA	\$311.00	\$1,866.00
31	Lighting conduit install (incl trench, fill, compaction)	935	LF	\$7.00	
32	Lighting pull boxes	7	EA	\$335.00	
33	1" Conduit (PVC)	515	LF	\$1.80	\$927.00
34	0.5" Conduit (RCS)	100	LF	\$2.25	
35	1.25" Conduit (PVC)	420	LF	\$2.00	
36	1' LB Conduit fitting	1	EA	\$20.00	\$20.00
37	#8 AWG Conductor	2,150	LF	\$1.30	\$2,795.00
38	#10 AWG Conductor	3,200	LF	\$0.90	\$2,880.00
39	#12 AWG Conductor (ground)	850	LF	\$1.20	\$1,020.00
40	Lighting controls	1	LS	\$6,115.00	\$6,115.00
41	Overcurrent protection (in existing panel board)	7	EA	\$28.00	\$196.00
42	Gazebo (including installation)	1	LS	\$74,975.00	\$74,975.00
43	Concrete curb & mowband (w/bronze lettering)	1	LS	\$3,700.00	
44	Gazebo ampitheater concrete seat walls	140	LF	\$265.00	\$37,100.00
45	Trash receptacles	4	EA	\$1,100.00	\$4,400.00
46	Conc. Bench pads (exclude train seat walls)	8	EA	\$360.00	
47	ADA picnic tables (incl. conc. pad)	3	EA	\$1,800.00	
48	Std. picnic tables (incl. concrete pad)	4	EA	\$2,000.00	
-10		TAL BAS			\$763,426.80

Bid Opening Oct. 7, 2010 Engineer's Estimate \$900,000.00

	CONTRACTOR/CITY	BLOSSOM VALLEY SAN JOSE			
ITEM #	DESCRIPTION	QTY	UNIT	ITEM COST	TOTAL COST
	ALTERNATE BID #1 - BASEBALL SEAT WALLS				
1	Baseball plaza seat walls	37	LF	\$2.65	\$98.05
2	Commemorative Tiles (incl. inlay in b ball seat walls)	38	EA	\$1,100.00	\$41,800.00
	TOTAL BASE + ALTERI	NATIVE	BID #1		\$805,324.85
1	Train seat walls (provide & install on conc. Pad)	8	EA	\$3,425.00	\$27,400.00
	TOTAL BASE + ALTERNATIV	/E BID #	1 & #2		\$832,724.85
	ALTERNATE BID # 3 - HISTORY WALK			<u>.</u>	
1	Demolition, grading & compaction	3,700	SF	\$3.60	\$13,320.00
2	Vehicular paths - 6" reinf. conc. (incl bench pads)	2,050	SF	\$10.50	\$21,525.00
3	Provide & install city standard benches	4	EA	\$1,560.00	
4	15 gallon tree	14	EA	\$100.00	\$1,400.00
5	1 gallon shrub	800	EA	\$10.00	\$8,000.00
6	Mural uplights	37	EA	\$1,650.00	\$61,050.00
7	Light standards (incl. trench, cond, p box, connect.)	3	EA	\$9,840.00	\$29,520.00
	TOTAL BASE BID +ALTERNATI		\$973,779.85		
	ALTERNATE BID #4 - TURF WITH IRRIGATION				
1	Demolition (Poplar St, grading, compaction)	5,620	SF	\$3.60	\$20,232.00
2	Imported planting soil	208	CY	\$82.00	\$17,056.00
3	Turf - sod	5,620	SF	\$0.70	\$3,934.00
4	Irrigation main line (incl. trench & backfill)	209	LF	\$26.00	\$5,434.00
5	Remote control valve	6	EA	\$250.00	\$1,500.00
6	Quick coupler valve	2	EA	\$100.00	\$200.00
7	Pop-up shrubs & lawn sprays	45	EA	\$8.00	\$360.00
	TOTAL BASE BID + ALTERNATIV		\$1,022,495.85		
	ALTERNATE BID #5 - PLAY AREA			-	
1	Bocce Ball area improvements	1	LS	\$13,100.00	\$13,100.00
2	Playground area improvements	1	LS	\$154,180.00	
	TOTAL BASE + ALTERNATI		\$1,189,775.85		

PROJECT TOTAL BID (Base Bid + Items #1 thru #5

\$1,189,775.85